L))
g / ﬁ(ﬁ // @\ ?
m\\ \

/" (P fw fuﬂ \(( 4
, ﬂ( P ‘,‘/',\_‘.,‘:‘f

ELIET E750 —— ROTOR SHAFT LOOSE KNIVES

NO| MMA—01.100.120 ‘REV‘ 1 ‘DATE‘zo%/owoa




O ~NO OGO~ WDN-=- 3

NN = a2 O
-0 WO NO”DO;LPDWDN-=O

Order nr

BS 512 000 820
BS 531 000 800
BS 512 001 016
BS 532 010 305
BL 801 102 002
MPA 01 010 010
BS 502 000 800
MPA 01 090 520
MPA 01 100 500
BS 011 000 822
BR 111 291 410
BR 111 291 010
MPA 01 090 530
BU 402 200 103
MPA 01 090 540
BS 501 000 800
MPA 01 090 510
BS 501 902 200
BS 023 000 810
BA 565 709 002
BB 341 050 535

article description

bolt m8x20 din 933

washer m8 din 125

bolt m10x16 din 933

washer m10x30x2.5

bearing + flanges ucpfl 204
bearing protection cover 204

self locking nut m8 din 985
connection ring for blades 20x45x8mm
blade shaft

bolt m8x22 din 931

nylon bushing (28.5/44x14)

nylon bushing (28.5/44x10)
bracket for loose blade

set of loose knives with bush (48)
bush loose blade

nut m8 din 934

connection ring for blades 22x45x8mm
nut m22x1.50 din 439

set screw m8x10 din 916

pulley spa ii 90x20x5 (rotor)

key 5x5x35 din 6880

quantity

= = A NN=-2 =0 I

Hh O =2 B NN
(] 0 A~ W O

= S N =



